HEEEEEBM TR ERECERESR

MG A HET 3,399 (L AEES (&I E - #{THFRH] © 2017/5/12- 2017/5/31

Q1. FETER > —IHHRSL/ DT T 2
1. 0-13 (9.28%, 315)

2-4 % (69.07%, 2,345)

5 % F (21.65%, 735)

Q1 FERPEHEER , —HRBS DT 2

Answered: 3,395 Skipped: 4

0-13%

e _

SXMLE

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Answer Choices Responses
0% 9.28% 315
24% 69.07% 2,345
s%BLE 21.65% 735
Total 3,395
A (77.99%, 2,644)
2. 87 (22.01%, 746)
Q2 FHRHFR BH X BB T ML 2
Answered: 3,390 Skipped: 9
A
FEEREEEAFE) -
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Answer Choices Responses
5 77.99% 2,644
R R EAESENAIE) 2% o
Total

3,390



.5 [ PR R Y R PR A PR 2

Al

FEEL/THING (55.45%, 1,490)
$50H (7.82%, 210)

Bt (50.95%, 1,369)
EZ£ Z4%% (20.39%, 548)
HT (16.78%, 451)

Q3 FERF R RE R HE 2

-2 2
-~
=ity
o
He e -

0% 10% 20% 0% 40% 50% 60% 70%

Answer Choices Responses
HR/AR 55.45%
958 7.82%
e 50.95%
ERRE 20.39%
T, iR 16.78%

Total Respondents: 2,687

. 5R 4 AR bR ©

vk w e

BEE Apple (40.43%, 1,082)
=& Samsung (13.79%, 369)
Sony (21.45%, 574)

HTC (28.18%, 754)

HE o 55500 ¢ (23.21%, 621)

210

1.369

548



Q4 GRS FRANRIEE 2

Answered: 2,676 Skipped: 723

HE | R -
Total Respondents: 2,676

Q5. SEEEEERTHR ?

1.

2.
3.
4

HCO#FE (3.32%, 90)
AR FRLEE L (48.78%, 1,321)
FER R F B0 (41.73%, 1,130)
HE - A 0 (6.17%, 167)
Qs ERSEBNAR ?

Answered: 2,708 Skipped: 691

0%  10% 20% 30% 40% 50%

Answer Choices
HTHTR
BEREEPO
FFURT ML

e, MR
Total

Responses

40.43% 1.082
13.79% 369
21.45% 574
28.18% 754
23.21% 621

60% 70% 80% 90% 100%

Responses

3.32% 90
| 48.78% 1,321
| 41.73% 1,130

6.17% 1677

2,708



Q6. A > LRI —REEERRE - TRECHEEXEFH?
1

& (7.60%, 2,079)
A dEs BRI ¢ (23.40%, 635)
Q6 B[ , HUURIE—RAMEBEERKTE , TR
EAREBXBETFR?

Answered: 2,714 Skipped: 685

*' : mﬂﬁm : -

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Answer Choices Responses
& 76.60%
& WRARE : 23.40%
Total

4T (44.46%, 1,200)
R (51.43%, 1,388)
EHE (4.11%, 111)

Q7 BREHFRGAEB R ST ?

Answered: 2,699 Skipped: 700

%

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

Answer Choices Responses
23T 44.46%
wE 51.43%
FE 411%

Total

2,079

635

2,714

1,200
1,388
111

2,699



Q.8. i
1. & E%:E%Eﬁ)?l (33.15%, 890)
2. A FHRHAER : (71.47%, 1,919)

Q8 EFHER , ArIeR BRElRER , B
BB EMMEAME ?

Answer Choices Responses
B RRWRA - 33.15%
A& FRHREA : 71.47%

1-2 £E (5 63%, 162)

1.
2. 2-34F (37.67%, 1,085)
3. 3-54F (43.68%, 1,258)
4. SHEDLE (13.02%, 375)
Q9 f%%‘%&“%&:ﬂ‘l‘iﬁﬁﬁﬁﬁ%m%Eﬁ
= ?
1-26F
3-56F
-
1-248 563% 162
2.3 37.67% 1,085
3-54E 43.68% 1.258
SEERLE 13.02% 375

Q10. g N4ERE
JE %4

L

e A

890

1,919



